Chapter 1: Strings, Numbers, and Math
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<html:>
<bhody>
<h2>
Hello world!
</h2>
</body>
</html>
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Chapter 2: Objects, Immutability, and
Switch Expressions

) requireNonNullElseThrow (T obj, X exception) T
) requireNonNullElseThrowIAE (T cbj, String message) T
0 requireNonNullElseThrowIAE (T cbj, Supplier<String> messageSupplier) T
) requireNotNullElseThrow (T obj, Supplier<? extends X> exceptionSupplier) T
String x = "book" String x = "book" String y = "book" String z = "book"
| |
l v
Ilbookll Ilbookll

SCP SCP

String x = "book" String y = "book" String z = "book" String x = "cook" Stringy = "book" String ‘z = "book"
|

T J
"book" "cook" "book"
SCP SCP
O deepCloneDontClonelInstances (T o, Object... dontCloneThese) T
O fastCloneOxrNewInstance (Class<T> C) T
O shallowClone (T ©) T
O copyPropertiesOfInheritedClass (T =src, E dest) void
OdontCleone (Class<?>... ) void
OdontCloneInstanceQf (Class<?>... <) void
O equals (Chject obj) boolean
O getClass () Claz=s<?>
O getDumpCloned () IDumpCloned
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unsigned hash code
class name in hexadecimal

| |
modern.challenge.User | @ | 15db9742

57
58

&0
61

the switch expression does not cover all pessible input values

(Alt-Enter shows hints)

tePlayer(PlayerTypes playerType)
return switch (playerType) {
case TENNIS->

new TennisPlayer () ;

{
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Chapter 3: Working with Date and T

§.
4]

e eon-wa G ST swreizciiii::EH
R e 22 - 222 e L DGR :
2 Bucharest! _10:000-130: BB o urpi23iselse ME
M DEFAULT TIME ZONE Zoneld
(P dateToInstant (Date date) Inztant
(l dateToLocalDate (Date date) . LocalDate
(P dateToLocalDateTime (Date dzte) LocalDateTime
) dateToLocalTime (Date date) LocalTime
P dateToOffsetDateTime (Date date) Off=zetDateTime
hdateToOffsetTime (Date dzate) QOff=zetTime
l dateToZonedDateTime (Date date) ZonedDateTime
(P instantTeoDate (Instant instant) Date
) localDateTimeToDate (LocalDateTime localDateTimes) Date
() localDateToDate (LocalDate localDate) Date
() localTimeToDate (LocalTime localTime) Date
) offsetDateTimeToDate (O0ffsetDateTime offsetDateTimes) Date
poffzetTimeToDate (0ffsetTime offsetTime) Date
) zonedDateTimeToDate (ZonedDateTime zonedDateTimes) Date
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Chapter 4: Type Inference

Decompilation of the class containing this method:

public Object fetchTransferableData(String data)
throws UnsupportedFlavorException, IOException {

StringSelection ss = new StringSelection(data);
DataFlavor[] df = ss.getTransferDataFlavors();
Object obj = ss.getTransferData(df[0]);

return obj;

Decompilation of the class containing these declarations:
int intNumber = 16;

int longhumber = 18;

int floatNumber = 18;

int doubleMumber = 18;
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Chapter 5: Arrays, Collections, and Data
Structures

[91]
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Q0 ®O0 ® ®

Initial Max Heap 7swap1 Max Heap sswap1 Max Heap 4sWap 2 25Wap1
heap g swap & delete 7 5swap1 delete g 1swap &4 delete 4 delete 2
45wapy 15Wap &
5swapy

 containsElementObjectV1 (T[] arr, T toC
) containsElementObjectV2 (T[] arr, T t«
) containsElementObjectV3 (T[] arr, T t«

ontain) boolean
ntain, Comparator<? super T> c) boolean
ntain, Comparator<? super T> c) boolean

containsElementVl (int[] arr, int toContain) boolean
) containsElementV2 (int[] arr, int toContzin) boolean
) containsElementV3 (int[] arr, int toContzin) boolean
) £indIndexOfElementObjectV1 (T[] arr, T toFind) int
) £indIndexOfElementObjectV2 (T[] arr, T toFind, Comparator<? super T> c) int
) £indIndexOfElementObjectV3 (T[] zarr, T toFind, Comparator<? super T> c) int
) £indIndexOfElementV1 (int[] zrr, int toFind) int
) £indIndex0OfElementV2 (int[] zrr, int toFind) int
) zoxrtByKeyList (Map<K, V> map) List<K>
) sortByKeyStream (Map<K, V> map, Comparator<? super K> c) Map<K, V>
) sortByKeyTreeMap (Map<K, V> map) TreeMap<K, V>
) zortByValuelist (Map<K, V> map) List<V>

) sortByValueStream (Map<K, V> map, Comparator<? super V> c) Map<K, V>
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Value Index Binary Range of responsability Range Queries Examples

16 10000 I sum [2,9] = sum[1,9] - sum[1, 1]=
15 01111z 2° | N =(0+58)-(3) =55

14 01110; — . sum([5,10]=sum[1,10] - sum[1,5)=
13 011012 2° | EEEEE =(3+58) - (17) = 44

12 01100: 2°
11 01011:
10 010102
01001, 2° I I B T sum[15,16] = sum[1,16]-sum[1,15) =
01000, 2° 5 2000 =(91) - (9+8+58) =16
001112

001102

001012

001002

000112

000102

000012

sum[9,13] = sum[1,13] - sum[1,9) =
=(9+8+58) - (0+58) =17

w

Q = N W 2 0 N @

Pairwise Independent

Hash Functions
add
element

L CEEE e

false
J/ positive
may or may No AND(HL((), H2((0), H3(CO) Yes may or may
not be true AND (1, 1, 1) not be true
» 4,
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Chapter 6: Java I/O Paths, Files, Buffers,
Scanning, and Formatting

processed

bytes

buffered
bytes

unseen

bytes

Raw JSON

melons_raw.json

{"type": "Gac", "weight": 2000}
{"type": "Hemi", "weight": 1200%

o

1]

Array-like JSON
L

melons_array.json

Map-like JSON
{
"type": "Gac", AT {
"weight": 2000 "type": "Gac",
"weight": 2000
"type": "Hemi", I,

"weight": 1200

L
}

“type”: "Hemi",
"weight": 1200

melons_map.json

melon.csv

Gaac, 2000
Hemi,1500
Cantaloupe, 800
colden Prize,2300
Crenshaw, 3000

This _is .
a file for testing
mismatches between

two Files!

filea.txt

This is
a file for testing
mismatches between

two files!

filez.txt

This 1is
a file for testing
mismatches between

two Files!

fileg.txt

This _is .
a file for testing
mismatches between

two files.

fileg.txt
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buffer circular buffer
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Tail

Head
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reading 3 lvtes reading 4 [or more] hytes
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Obtained Wanted
78910 0.9276730641526881 | 7EO10 0.928
83222 0.28423903775300785 | 837277 0. 284
5593 | 0.86653B798997145 | 5503 0.867
57329 0.9145723363689985 | 573240 0.915
61443 0.41527451214386724 | 61443 0.415
9043 | 0.8442927124583571 | 9043 0. 844
474 | 0.9159122616950742 474 0.916
45763 0.04448867226365116 | 45763 0. 044
26671 0.4648636732351614 | 26671 0.465
24096 0.12870733626570974 | 24096 0.1729
78,910 bytes
83,222 bytes
5,593 bytes
57,329 bytes
61,443 bytes
9,043 bytes
474 bytes
45,763 bytes
26,671 bytes
24,096 bytes
doubles.txt
23.4556 1.23 4,55 2.33
5.663 956.34343 23.2333
0.3434 0,788
people.txt

Matt,kKyle,23,5an Franciso;
Darel,Der,50,New York;Sandra,Hui,40,pallas;
Leonard,vurt,43,Bucharest;Mark,5ei1,19,Texas; UIm,Bar ,43,Kansas
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Chapter 7: Java Reflection Classes,
Interfaces, Constructors, Methods, and
Fields

JDK 10

Compiled from "Car. java"
public class modern.challenge. Car“ {

public modern.challenge.

public static modern. challenge Car newCar(fava.lang.Str‘ing, java. lang.String)
throws fava lang.NoSuchFieldException, java.lang.IllegalArgumentException, java.

lang.IllegalAccessException;
static java.lang.String access$@@(modern.challenge.Car);

7

IDK 12 javap
|SourceFile: “Car. java"

NestMembers:
" modern/chal lenge/Car$Engine

javap

InnerClasses:
public #14= #6 of #4;

/7 Engine=class modern/challenge/Car$Engine
of class moderns/challenge/Car

JDK 12 javap

‘SourceFlle "Car. ja
/;,'NestHost class modern/challenge/Car

InnerClasses
public #21= #9 of #29;

/7 Engine=class modern/challengesCar$Engine of class
modern/chal lenge/Car

@Packt
package modern.challenge;

@Fruit{name = "melon”, wvalue = "deliciocus")
public class Melon extends @Family Cucurbitaceae
implements @EByWeight Comparable {
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@Ripe (true)
public wveoid eat() throws ERuntime IllegalStateException {
}

@Ripe (true)

public veoid eat() throws IllegalStateException {
}

public |EShape ("oval")| List<Seed> seeds() {
return Cellections.emptyList() ;

public wvoid =lice (|@Ripe(true]| ‘@Shape("square") int noOfSlices) {
}

AUnit

private f£final int weight;

@Fruit(name = "melon"”, value = "delicious")

public class Melon extends |EFamily|Cucurbitaceae

implements (EByWeight Comparabkble ({

@Fruit(name = "melon"”, wvalue = "delicious")
public class Meleon extends EFamily Cucurbitaceae

implements |EByWeight| Comparable {
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E}Hﬁ org.player

= 3 dasses

E}%EI «<default package =
- [& module-info.java
E}%EI com.members

------ @ Flayer.java
L5 tests

- @ Libraries

[+ @ Test Libraries

=% org.tournament

= o dlasses

E}%EI «<default package =
- @ meodule-info.java
Er@ com.management

...... [& Manager.java

module org.player {

regquires org.tournament;

module org.tournament {

exports com.management;

methodi()

method2()

method3()

InvocationHandler implementation

methodi()
ey method2()
method3()

The invocation handler to
dispatch method invocations to

_Dispatch
invocation
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Chapter 8: Functional Style Programming
- Fundamentals and Design Patterns

behavior

behavior behavior

behavior

Have Want

public class GacMelonPredicate

implements MelonPredicate {
public boolean test(Melon melon) {

public class HugeMelonPredicate

implements MelonPredicate {
public boolean test(Melon melon) {

return "gac”.equalsignoreCase(
melon.getType());

return melon.getWeight() > 5000;

List<Melon> melons,| MelonPredicate predicatef){...}

List<Melon> filterMelons( N \f/ /

[25]



List<Melon> europeans = Filters.filterMelons(
melons, new MelonPredicate() {

@Override
public boolean test{Melon melon) {

return "europe”.equalsignoreCase(melon.getOrigin());

This anonymaous inner class creation can be turned into a lambda expression.

21
22 (Alt-Enter shows hints)

% List<Melon> europeans = Filters
.filterMelons (melons, new MelonPredicate () {

(File folder, String fileName) folder.canRead() && fileName.endsWith(".pdf");

lambda parameters arrow lambda body
no explicit name  doesn't belong small pass it as argument
to aclass or store it

try (Scanner scanner = new Scanner|(

Path.of("doubles.txt"), StandardCharsets.UTF_8)) {

[26]



<cinterface»>
Cake

+ decorate(): String

I

BaseCake , CakeDecorator ,,__-""
+ decorate{): String l + decorate(): String l
Muts Cream
Cake cake Cake cake
+ decorate(): String +decorate(): String
- decorateWithNuts(): String - decorateWithCream(): String
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-

[

Sequence

Sequence()

- recordSequence(Command)
- runSequence(): void
- dearSequence(): void

<<Interface>>
Command

+ execute(): void

1
1
1
1
1
1
1
1
1
s

I INVOKER

e e e

MoveCommand

CopyCommand

MoveCommand(lODevice)

CopyCommand(lODevice)

+ execute(): void

+ execute(): void

2N

wal

e S

o -'—-——I"‘_. (mm————
""_'._'r_'_____-_.-__.,_ <" "
- T <<Interface>>
] 10Device
+copy(): void

+ move(): void
+ delete(): void

v

A

-

HardDisk

HardDisk()

+copyl): void
+move(): void
+ delete(): void

-

RECEIVER

DeleteCommand

DeleteCommand(lODevice)

+ execute(): void

/
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Chapter 9: Functional Style Programming

- a Deep Dive

Exception in thread "main" java.lang.NullPointerException

ine.copyInto (AbstractPipeline.java:484)

Iat modern.challenge.Main. lambdaSmainss (Main. java:2 BJI

at java.base/java. .stream.ReferencePipeline$35il.accept (ReferencePipeline.java:195)

at java.base/java. .SpliteratorsSArraySpliterator.forEachRemaining (Spliterators.java:548)
at java.base/java.util.stream.ZbstractPipe

at java.base/java.util.stream.2bstractPipeline.wrapAndCopyInto (AbstractPipeline.java:474)

at java.base/java.util.stream.ReduceOpsSReducelp.evaluateSequential (ReduceOps.java:513)

at java.base/java.util.stream.BbstractPipeline.evaluate (AbstractPipeline.java:234)

at java.base/java.util.stream.ReferencePipeline.collect (ReferencePipeline.java:578)

at modern.challenge.Main.main(Main.java:28)

names |

stream

-,
e

filter
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After:

stream() anna
stream() : bob
stream () : christian
filter () christian

map () : CHRISTIAN
stream() : carmen
filter(): carmen
map () : CARMEN
stream(): rick
stream() : carla
filter(): carla
map () : CARLA
sorted() : CARLA
sorted() : CAEMEN
sorted() : CHREISTIAN

After:
stream(): anna
stream(): bob
stream() : christian
filter(): christian

map () : CHRISTIAN
stream(): null
Exception in thread "main” java.lang.NullPointerException

at modern.challenge.Main.lambdaSmain$l (Main.java:1g)
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n E Stream<Integer>

[-]
[~]
2]
[
[~]
B
B
(=]

W \l’ W ¥ W
filter(i->i!=0) m E E E Stream<Integer>
T ] J
k\\\k\\ \ |l, // ’/ ,,———/
vy Y ¥ Vv
collect(Collectors.toList()) [ 1, 2, -4, 2, -1,14, -1 ] List<Integer>
ints.stream() |1 |]|2 m n 2 n E @ n _1-' Stream<Integer>

1 % ’ e R

-4 H -1 1.1' H Stream<Integer>
‘ i

ﬂ I14| Stream<Integer>

filter(i->i!=0) | 1

B
N
A
[ ]

distinct()

\';" ra \Lr
skip(1) 2|14 H m Stream<Integer=>
|
s
limit{2) 2 I_.q Stream<Integer>
J
-~
S
W
sorted() 4|12 Stream<Integer>
Ku e
;R\HRIS{_ -
collect(toList()) [ -4 2 ] List<Integer>
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melons.stream() | Gac(2000g) Hemi(1600g) Gac(3000g) Apollo[2000g) || Horned(1700g)| Stream<Melon>

|
|
W

W V4
map(Melon:getType) . @ Stream<String>
\ /
—_
\_\N

-
v )
W W \/ V// List<String>

[ Gac, Hemi, Gac, Apollo, Horned]

collect(tolList())

[Gac(2000g), [Gac(2000g), [Horned(1700g),
Arrays.stream{melonsArray) Hemi(1600g)] Apollo(2000g]] Hemi(1600g)] Stream<Melon[]>
% \ N
map(Arrays::stream) \//-’ \ \ Stream=< Stream=<Melon=>
QV Y
Hemi(1600g) Apollo{2000g) Horned(1700g) Hemi(1600g)
Stream Stream Stream
]
| |
distinct{) \l, \l, N Stream<Stream<Melon>>
Hemi(1600g) Apollo{2000g) Horned(1700g) Jill Hemi(1600g)
Stream Stream Stream
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[Gac(2000g), [Gac(2000g), [Horned(1700g), Stream<Melon[]>
Hemi(1600g)] Apollo(2000g)] Hemi(1600g)]

/ A A
T Stream<Melon=
W W \/ H\\z

Gac(2000g) Hemi(1600g) Gac(2000g) Apollo(2000g) lHornedlﬂDUg Hemi(1600g)

Arrays.stream(melonsArray)

ﬂatMaplArrays::stream}/-—”’
WV

distinct() Stream<Melon=

Gac{2000g) Hemi(1600g) Apollo(2000g)| JHorned(1700g

N S

e

——— —— —

[ . . . .1

melons.stream() [Gac{2000g) , Hemi(1600g) , Gac(3000g) I Apollo(2000g) I HornedHi‘DOg}, Stream<Melon>

map{Melon::getWeight) 2000 , 1600 , 3000 ’ 2000 ’ 1700 ’ StreamzInteger>
E ‘ ! ! |
reduce(0, (m1, m2)->ml+m2) 4 T | | i
— | | | |
| | | |
M , | |
2000 [—— | | |
1 i | | |
. W |
3600 ’— | |
| ! | |
) v | |
6600 , ......... >° |
l | N |
2600 ,-“>°
W
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n n =1
-l'—F 1 4_..._+__l_ " n
e €Ty In —_—
; €Lg
i=1
melons.stream() Hemi(1600g) l Gac[mm}g}—' Hornedlﬂﬂﬂgﬂ Apollo(2000g) | Stream<Melon=
|| |I
1 , v
collect(summingint . .
(Melon::getWeight)) | Melon:getWeight (Melon::getWeight ﬁlelon::getWeight Melon:getWeight [ int
|
\!/ / )
1600 3000 1700 2000
1 |
| |
o%,é |
\L, .
1600  [—— -
%00 [ -
K N
6300 A
|
W
8300
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Stream<T-

Gac{12009]

Classification
function

|

K
1600
¥ E
Hemi(1600g) Crenshaw(1200g) Horned(1700g)
Gac{1200qg)
List<T> list<T> list<T=
Man<K List<T~>
sugar
weight LOW MEDIUM HIGH UNKNOWN
Apoll .
2600 [Eﬁtij{}upe Hemi
3600 Cantaloupe
C h
A A Hored
1600 Hemi
3000 Gac
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melons.stream() r Hemi(1600q) Gac(3o009)

Horned(1700g)

Hemi{2600q)

Stream<Melon>

__

collect(partitioningBy(

m -> m.getWeight() > 2000))

YES

Map<Boolean, List<Melon>>

K Boolean
false

v Hemi{16004g)
Horned(1700qg)

Y

Boolean
true

Gac(3oo0g)
Hemi{2600g)

Map<Boolean, List<Melon>>

¢ Gollector 2

Sequential stream
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E lteration
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Parallel stream
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f.andThen(y)
I
W/ W 4 Y
? 3 6 8 |1
J
W v 4 -
4 16 36 64| 9
Ny b Ny b
ooonp-
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Chapter 10: Concurrency - Thread Pools,
Callables, and Synchronizers

liOdone —————| BLOCKED
of lock acquired .{/ -
A
RUNNABLE 110 ar synclhronlzed block
tart()
m el e TERMINATED
exit()
|
|{ ‘ natify() //f ||
o / join()
|\ pak) | it
\ . \ﬂ wait() \ sleep(n)
_ \ N join(n)
notify() WAITING parkNanos(n)
notifyAll() —— . parkUntil(n)
time elapsed T
active | TIMED_WAITING
thread
-~ O,
m\_\ =
e Data Buifer Vs
= -
[T[reat /l_% =,
I \\\x__
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nmducero ﬂ o consumer
CF & G

WY 99 - B -8
v BE

Assembly Line

producer*y . @ consumer

[40]




producer

E? \ Assembly Line

inbound

O («( ewere [y
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| /

\ <:! work-stealing

25000
20000
7~ 15000
E
o
= 10000
5000
0 T T T T T T T T T 1
1 2 3 4 5 5] 7 8 9 10
run
—a— newWorkStealingPool —+— newFixedThreadPool
—m— newCachedThreadPool
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Time (ms)

200

800

700

00

500

400

300

200

100

run

—a— newWork5StealingPool

—m— newCachedThreadPool

—+— newFixedThreadPool

T

automatic system

i
@

thOCI consumer
G?

¥ ¢

=2 -5

Assembly line

Si=|
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@ 5 2 1
e
@——> |§| @ :
E % =
3 S
H N N
@ ® > >
L Thread T waits two 2. T2 completed and decrement
other threads the counter from 2 to 1
0 —
0O—— O > >
~| = ~ g
® e = ~ E
g 4
3.T1 completed and decrement 4.7 completed
the counter from 1 to 8
o
] -4
@% = @H o
; :
3 <
@

a—>

1. Three threads heading to the barrier

@W—>
@—>
@&—>

3. Two threads waiting at the barrier

BARRIER

@&—>

2. One thread waiting atthe barrier

@W—>
@—>
@—>

§. All threads are at the barrier

BARRIER

BARRIER

vy

5. The threads go further
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[ —— [ ——
:_: =3 ; o

w Ll
0 L]
2 2
< <
g Object of T2 g dbiect of T2
] Jbject of T2 I~ Object of T2
w V8]

1. Each thread is performing its tasks 2. T2 arrives at the exchange point and waits for T1
o
o]
g
Z
<
T s .
§ Object of T2
w

3. T1 arrives at the exchange point as well 4. T1 and T2 exchange objects and continue their tasks

@ Assembly Line % E
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phase 0 (4 registered) phase 0(advance to phase 1) phase 1 (3 registered)

arriveAndAwaitAdvance()
—> a——> >
®—> @>—> .
@—>{F O~

register()
arriveAndDeregister() @
N register() @
L=
@ arriveAndDeregister()

PHASER
PHASER
PHASER

@ arriveAndDeregister()
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Chapter 11: Concurrency - Deep Dive

1
Fork tasks in smaller subtasks :
in a recursive approch .
L
1 /,-"”_/ T .
v fork )
! |
! I
1
1 .. []
task small enocugh er} \\V A\f

“u

h 4
Evaluate partial results
in parallel

\ I \ I

\> tf:/ \:} < /

join
Join the partial results join

J
to obtain the final result 7
\ -
_,—'-'_'-'——

join

A
() —> () <9
N
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CompletableFuture.supplyAsync(() -> { completableFuture.supplyaAsync(() —-> {
// Code prone to exception // Code prone to exception

return "resultl”: return "resultl";
}) .thenipply (r1 -> { }) .thenApply(rl —-> {
// Code prone to exception // Code prone to exception
return "resulti"; return "result2"™;
1) .thenfipply (xr2 —-> { }) .thenfpply(r2 -> {
// Code prone to exceptiocn // Code prone to exception
return "result3"”; return "result3";
}) .thenhccept (r3 —> | }) .thenAccept (3 -> {
// Code prone to exception // Code prone to exception
I )i
Exception in supplyAsync() Exception in 1st thenApply()

CompletableFuture.supplyAsync(() —-> { CompletableFuture.supplyAsync(() -> {

// Code prone to exception // Code prone to exception

return "resultl™; return "resultl";

1) .thenApply(rl -> { }).thenApply(rl -> {
// Code prone to exception // Code prone to exception
return "resultz2™; return "resultz2";

}) .thenkpply(rZ -> { }) .thenkpply(r2 -> {

// Code prone to exception
return "result3";

}) .thenAccept (r3 -> {
// Code prone to exception

// Code prone to exception

return "result3™;
}) .thenhccept (r3 -> {
// Code prone to exception

1) BE |
Exception in 2nd thenApply() Exception in thenAccept()

l,,

Thread 1 . read/write [F NP

Main memory
working of a computer working
memory memory

: .
ST o2/ write v read-write [
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newCondition

Lock/Reentrantlock lock = new ReentrantlLock();
Condition condition = lock.newCondition();

public void execute () throws InterruptedException {
lock.lock() ;

try {

':-:il;i_lefif (some condition) {

condition.await() ; lock.lock() ;
} try {
} finally { condition.signal (A11) () ;
lock.unlock () ; } finally {
} lock.anlock () ;
} }

When await() is called the thread releases the lock. After getting the signal to continue
the thread must acquire the lock again.

Waiting
Writer

Resource
Resource

| Reademl > Waiting Waiting
Reader Reader
-_} -_}
-
Writer
Reader? |——

Multiple Readers One Writer
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Chapter 12: Optional

No images
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Chapter 13: The HTTP Client and
WebSocket APIs

3 TCP connections

HTTP/ 1.1

1 TCP connection

—-—-779d334bbfa745fdblf4d115cdlBalecd

Content-Disposition: form-data; name="author"

=part1
Lorem Ipsum Generator
-=779d334bbfa745%fdblf4dl1l5cdl8aled

Content-Disposition: form-data; name="filefield"; filename="figure.png" =

Content—-Type: image/png

LENG

= part2
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zi 3a°A a rfr ~ Tﬁ«zYé}ﬁ'p .o 0%
——775d334bbfa745fdb1f4d115cdl18alcd——
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godocs

| index

2 jqueny.min
playground

i style

5/16/2019 10:26 AM
5/16/2019 10:26 AM
5/16/2019 10:26 AM
5/16/2019 10:26 AM
5/16/2019 10:26 AM

J5eript Script File

Chrome HTML Do...

J5cript Script File
Jseript Script File

Cascading Style 5...

18 KB
66 KB
92 KB
15 KB
14 KB
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